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1.  Which one of the following separates Tasmania | 1. Preffiad 3 & F1H-81 T i ¥
from Australia ? ST AT ?
(a) Great Aushﬁ@an Bight (a) T AR a1ge
(b) Bass Strait ¢&y , 1 qugﬁT
() Magellan SiFdit -y amaﬁm wr T
(d) Tasman Seaxj- © ’ 243
T~ (d) TEEET &%
2. Consider the fOl!OWing statements with reference | 2, v sEE & ded # Frefaiad Al 9T o=
to world population : Fifsu '
I Brazil has the highest population among the I Zfarft e@fEh St § e At
, South American countries. - GFIH@JTT@HT% |
II. Asiacontinent has the highest . [ R -
growth rate of UETEY  JTwad  SHEE] «
population. o " wWare | Q%
I1I. Afric':a is the most densely populated ML mﬁﬁwaﬁmwmm% |
continent %;the world. m.ﬁ TP/ T B/ ?
Which of the aflgg’e statements is/are correct ? (a)o 1 3R et |

(a) BothI andiIl

® Onym & B Fan
(¢) BothIand II | CREL&E
(d) OnlyI g&% (@) FaAI

3. Which one of the following pairs is not correctly | 3. ﬁm‘ﬁf@agﬁﬁﬁﬁﬁ-ﬁ@ﬂiﬂgﬁ%ﬂ?ﬁ%7

matched ? ) (T ) EFT )
(Plantation Crop)  (Name of Country)

_ (@ wE@EE) - bR
(a) Coffee l\‘— Uzbekxistan b e B ST
(b) Rubber (?3 —  Malaysia © = s
(c) Tea (%-—— | Sri Lanka &) seTER) -
(d) Cocoa ;\:{— Nigeria

4, Which of the following commodity has the | 4. Tafafaa T @ fag g o i fata &

greatest share of Indian exports ? - Haiftem R 9

(a) Agricultural products (a) I
(b) Mineral ores _ (b) @R I
(c) Handicrafts (c) T=RET

(d) Engineering goods (d) SSfafor s amm
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5. ;\]’thh l?ge.o'f the following pairs (Folk dance — Freferftas % & w9 T (ks Jed — Iefd AT
ace ol Origin) is nor correctly matched ? T TEl ﬂ—q@ TR0 S R
(1) Yakshagana - Rajasthan (2) TETA Zqreree
(b) Kaikottikal — Kerala b —_—
(¢) Koli — Maharashtra () 5‘: -
(d) Himachali - Kullu Valley (c) Hich -4
(d) ferrref)< e ot
6. Deficiency o(: which of the following elements Freaferfan o & fra ey i edy 3 oo e A B
causes yellowing and poor growth of the plants ? AT & T I Qﬁi FHRA AL 0
(@) Boron (@)
(®) Phosphorus -
(¢) Calcium (®)
(d) Nitrogen (c) Hfexrm
g4@
(8 AT 252
7.  Match Lis-t~l with List-I1 and choose the correct (Eﬁ.liﬁniiﬁ;lﬁg&%aaﬁﬁq aq’f(ﬁﬁqnqzﬁg
answer using the codes given below : T I Ht@ I AT :
List-] List-11
-1 \O -1I
(Buddhist text) (Content) g;m%: g;w T
A. Vinaya Pitaka i. Regional histories of '
A. foafes i. i & &g
Buddhism ' ?
B. Sutta Pitaka ii. Buddha’s teachings B. ¥ .. 33#%
. fes ii. freard
C. Abhidhamma iii. Rules for those joining C. shmmfeE i feus §mie e
Pitaka the Buddhist monastic ' 'k 1. o e
order
D. weEw fiesd  iv. anifrewamer
D. Mahavamsa iv. Philosophical matters i
Piaka D
Codes (a) A-iii, Bm, C-iv, D-i
(a) A-iii, B-ii, C-iv, D-i (8) A-v, Rolit, Gl Dl
(b) A-iv, B-iii, C-i, D-ii ()  A-ii, Bij:r, C-ii, D-i
(c) A-iii, B-iv, C-ii, D-i - @ Adiii, B, C-i, D-i
(d) A-iii, B-iv, C-i, D-ii %
8.  Which of the following is nor a Rabi pulse crop ? fareafafaa & @ F19-d o Ei A 2o voa T8
(a) French bean 27
(b) Chickpea (3) auF well O )
§ e o
) nii "
(c) ¥
(d) "t
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9.

10.

11.

12.

l3l

Ashish leaves his house at 20 minutes to seven in
the moming and reaches Kunal’s house in
25 minutes. They finish their breakfast in another
15 minutes and leave for thei@fﬁce, which takes
another 35 minutes to reach. ADwhat time do they

leave Kunal’s house to reach Weir office ?
(a) 8:15 AM (b) <F20 AM
(c) 7:45 AM

(d) Prao AM

Find the missing number :

I7YI8 13\(14 19 4
729 ?

1225
(@) 641 by rss2
© 529 @ B9 24

The final of the World Chess @ampionship 2024,
was played between : <t

(a) Ding Liren and D. Gukésh

(b) Viswanathan Anand and D. Gukesh

(c) Magnus Carlsen and Vladimir Kramnik

(d) Ding Liren and Vladimir Kramnik

A family consists of six members P, Q, R, S, T and
U. There are two married couples. Q is a doctor
and the father of T. U is the grandfather of R and
is a contractor. S is the grandmgther of T and is a
housewife. There is one do&tdr, one contractor,
one nurse, one housewife an o students in the
family. Which of the followayg is definitely a

group of male members ? <
@ UT ®guT
(© QU,P d QU

Introducing Shyam, a lady said, *“The father of his
father-in-law is my father-in-law.” How is Shyam
related to the lady ?
(a) Father

(c) Son-in-law

(b) Husband
(d) Son

10.

11.

12.

13.

ey e g sw 8 e e W W
foraperat & 3 25 fire & FoMe & T UgEAI 8 1 7
T 15 iz # 31T TIvdT Wew Fd § AN 3R
iife % fore et ST &, et uge o 35 fome 3
AT & | 3 I iR T ¥ forg Fome F WA
T o Fered € 2

(a) 9Id: 8:15 (b) 3md: 7:20
. (c) 9d: 7:45 (d) 9rd: 7:40
AT 1 FIfT |
17 18 13 14 19 4
1225 729 Y
(@) 641 (b) 542
(c) 529 (d) 639

forvar wrater Sftazafira 2024 =1 BT e e
IERIRID I &

(a), i oa & w3

(b) forvermem strie we &1, R

(c) B FITHA Td sATSHI TS

(d) FEneia ud sarEnd i

CH INER H : 9e= P, Q, R, S, TaT U & | yiE@r
¥ 31 fanfed S ¥ | Q Uk Siaex & iR T frar 2
U, R HI3ET 8 FANTETH RSN 8 1 S, TH T 2

- 3R 9 O Tfeoft ] | afEm § o Stae, ts 33ER,

T T, T Tfeoft qut @ o ¥ | Feafafee § @

ﬁ:r-mﬁrﬁaamﬂgmm@ﬁmmg%?
@ UT b QU,T
(0 QU,P (d QU %’;g

A 1 A 3 5T, U AR 3 e, T wg

ferer T T & | v 6 I Hieen & FrEE R 9
(a) fuar (b) ufa
(c) =wmE g e

: S
-0
B
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(a) Badminton World C
(b) Kabaddi Worlq Cup
(¢) Hockey World Cup

(d) Cricket World Cup %%%

hampionship

The 2024 Nobel Prize in Ph
was awarded to Victo
for discovering :

ysiology or Medicine
r Ambros and Gary Ruvkun

(@) Messenger RNA (®) Ribosomal RNA
(¢) Transfer RNA (d) Micro RNAs

In which country was the world®

wind farm inaugurated in Augus
(a) Germany

(c) Taiwan

s largest offshore
12024 ?

(b) Denmark
(d) United Kingdom

In March 2025, NASA astronauts Butch Wilmore

and Sunita Williams returned to Earth on board
SpaceX’s spacecraft named

(a) Challenger (b) Dragon
(c) Columbia (d) Discovery

In the 2024 Paris Olympics, the Jmen’s freestyle

57 kg wrestling event Bronze medal was won by :
(a) D.T.Cruz

(b) Sarabjot Singh
(c) Akshdeep Singh

(d) Aman Sehrawat

India’s first manned deep ocean mission is
named :

(a) Vikramaditya

(b) Samudrayaan
(¢) Varunayaan

(d) DIVE India

Which city will host the
Games ?

(a) Glasgow
(c) Hamilton

2026 Commonwealth

(b) Birmingham'
(d) Melbourne

14.

15.

16.

17.

18.

19.

20.

2025 ¥ 7Rell AR RS FRTSH 1781 A
A e foram o, frad v af sy 3 Y
A1 3 oy o 2

(a) i faga Sfgafing

(b) Fed

(c) Erehl ferva o ~ gﬁé‘g

(d) ez v Bz

aﬁzomwﬁiﬁlﬁtﬁﬁﬁmﬁ%ﬁqwﬂéﬁgmﬁn
ﬁmmaﬁtﬁﬁm@ﬁ&aﬁ@a%mﬁm
T 7

(a) HR~R IR (bgusaﬁmaaﬂm

() TEF ARG  (dyHresht smwTw

anmzozﬁaﬁm%uaﬁ%mmmmm
381 e 3w i far 0

(@) < (by ST

(c) ATam (d) Fees ferem

e 2025 . A & TR 9 i w g

ﬁmﬁmmmm%mm
TES?

(a) =i @\_;%Tn
(c) wrafaan (QQ%F:E’&

2024%%%%@_&&&@

SEReTER el Wi v aar%ﬁ::qaa:ﬁﬁéum&m
™ 9

(@) & %= (b) W= fig
(c) 3y fim (d) 3197 HetEw

I 3% S S S S e 5 o e
®2

_ka) Tawafes

(b) Wz
(c) EEH

(‘%mas'%m
2026%WWW%W%HWI‘%

U ﬁ
(a) TETEM q,»)/ affam
(¢) efiree

(d) Teras
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21. Which of the following pairs (State — Name of the | 21. frefafaa ﬂ"‘ﬁ ([T - & ) T3

Coal field) is not correctly matched ? ﬁ?—ﬂﬁ@%ﬁﬁ% ?

(State) (Name of the Coal field) T9) (@I &5 &1 M)

(a) Odisha — Talcher (a) Afsm - dwe=.

(b) Madhya Pradesh — Singareni (b) mEwRw - fEmE

(c) Chhattisgarh. - Korba (c) oHEE - HET

<t Vo ) [=):

(d) Maharashtrg — Wardha Valley (d) mWENY - Syt 5"32

22, Which of the @owing pairs is not correctly | 22, frforftad 7wl § & 81 o wet gfera 7@ € 2
?
matched ? P~ @) NN — e QAT
(a) Tutlcon'n — Fishing Harbour ®) = _ Wzﬁmm
- (b) Ch-en.nal — Artificial Harbour © = _ T T g e
(¢) Kolkata — Deepest Harbour of qrara
India
“. W - ;r@ﬁra?q’lmam

(d) Visakhapatnam — Natural Harbour

23. Match List-I w@:List-II and choose the correct | 23, Hﬁ-laﬁ@-ﬂﬁgﬁ%ﬁm R ﬁ%ﬁt{waﬁc‘:

answer using thé £bdes given below :

List-1 [
(Name of ‘f-r; List-IT
Biosphere (Location (State))
Reserve) 7
A. Manas - i. Meghalaya
B. Similipal ii. Kerala
C. Agasthyamalai iii. Odisha
D. Nokrek iv. Assam
Codes :

i~
=

(a) A-ii, B-iii,giv, D-i

(b) A-i, B-ii, @=iii, D-iv

(c) A-iv, B-iii, C-ii, D-i

(d) A-iv, B-ii, C-iii, D-i

Wmmﬂﬁmﬂﬁ&

i g-11
(flavea smifema ST '
&7 %1 7m) (EFarefa (@)
A. o -
B. A
C. anfesm
D. g
?g\ﬁ:

(@) A-ii, B-iii, C-iv, D-i
(b) A-i, B-ii, C-iii, D-iv
(,c) A-iv, B-iii, C-ii, D-i

(d) A-iv, B-ii, C-iii, D-i
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25.

26.

27.

28‘
29.

30.

31.

Padma Bhushan 2025 awardee for Science and

Engineering, Vinod Dham is known for his role in
the development of :

(a) The Pentium Chip (b) RISC Computing
(¢) ZiLOG Processors (d) SPARC Systems

India’s Chandrayaan-3 made a soft landing on the

moon, making India the country to do
$0.

(a) Second (b) Third

(c) Fourth (d) None of the above

The Lok Sabha Elections 2024 were held in how
many phases ?

(@) 9 phases (b) 7 phases

(c) 8 phases (d) 6 phases

In 2025, how many individuals were honoured
with the ‘Padma Vibhushan’ award ?

(@) 6 (®) 5 () 7 (d) 4

Which one of the following is an Export
Processing Zone ?

(a) Bengaluru (b) Delhi

(c) Kanpur (d) Falta SEZ

When was the ‘Zero Poverty Campaign’ started by
the Uttar Pradesh Government ?

(a) 26 Januvary, 2025 (b) 2 October, 2024

(c) 26 January, 2024 (d) 15 August, 2024

What initiative did the Indian Government launch
to encourage climate-friendly lifestyle choices
among citizens ?7

(a) Green India Mission

(b) Mission LiFE

(c) Swachh Bharat Abhiyan E%E
(d) National Mission for Clean Ganga -
Which one of the following has received the Major
Dhyan Chand Khel Ratna Award 2024 ?

(a) Sukhjeet Singh

(b) Annu Rani

(c) Vantika Agrawal

(d) D. Gukesh

24, aﬁzozsﬁﬁmqqés’sﬁﬁuﬁn%mﬁwﬁ
e e e e e s

IGEICIE GEL o
@ Wemfre,  (b) RiscEmEm
(c) ZiLOG (d). SPARC JurTeft
25. mr‘swa* TZAT QTG eife i, frea
T T O e il
(a) fadta (b) Term
(c) =g (d) 37T & & Tl

26. T W1 A 2024 FRaY @i § HOST EETO

T 7

(@) 9= (b) 79T

© 85 . (&) 6% é%
27. 72025 #, ferarsaferaat @t qar fangmor qra?r{ﬁ

e g

(2 6 @)‘5’ @7 (@4
28. ﬁmﬁf@aﬁﬁmmﬁuhm(ﬁrﬁ@néﬂ

g7

(a) STTeE (b) feeedt

(6) FAR C () WeTAW
29. IW WM EHR T S urad A wa gry ~

 frarmn e

(a) 265al, 2025  (b) 2 IS, 2024

(c) 265Wad, 2024 (d) 15 3T, 2024
30. mmﬁmﬁﬁﬁwﬁm%msﬁmﬂsﬁ

mﬁ%%q%amaﬁgmmﬁ%?

e i

(b) iﬁmr«rﬁmr*

(c) =S vid AhEA

(d) TS =S T e
31, frafafea & & frmnt o am <= g ™ [ER

2024 fRem 2 2

(a) et feie

-y

(c) dfcart smaTE

(¢ g
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32. Which of the following are water-soluble |32. ﬁ-;:{ﬁ«fﬁgﬂﬁﬁaﬁ?-ﬁﬁlaﬁ gEHQ“EI e & 2
vitamins ? ™ i (a) ﬁl’lﬁﬁ C aﬂ-{ D
(a) Vitamins C and D <& () Frifd B 3D
(b) Vitamins B and D = - Rt B 3t C
(c) Vitamins B and C () EyE -
(d) Vitamins A and B ;3- 5% (d) A B
33. Given below are two Statements, one is labelled as | 33. = g @ few Mo § R & © H
Assertion (A) and other is labelled as’ R (A) 3N 8 1 FHR9T (R) FET TS |
Reason (R). S .
Assertion (4) : Amphibians can tolerate mixing of FIA (4) : T 3113@1@3 qT ST IR T
oxygenated and deoxygenated blood. ED ﬁaﬁiﬁ'ﬂﬁ HFd & |
Reason (R) : Amphibians are animals with two FRT (R) : I Y FeT geg ared It |
chambered heart.
AT T =5 FITY :
Select the correct answer using the codes given ﬂ%ﬁqnqagdw R
below : ™ (a) AP (A) T 8, TG HRT (R) TA & |
(a) Assertion (A) is false, but %son (R) is true. (b) fFEYT (A) R FWT (R) HT T €, 9
(b) Both Assertion (A) and Reagon (R) are true, Sy £ e =rE T8
but Reason (R) is not the cdiect explanation (R), (A)
of the Assertion (A). FTE |
(c) Assertion (A) is true, but Reason (R) is false. (c) AfirepeA (A) AR, I3 1T (R) HEGEL
(d) Both Assertion (A) and Reason (R) are true (d) R (A) 3R FROT (R) 2HT T § 3
and Reason (R) is the correct explanation of NN
the Assertion (A). ST (R), A (A) qTEET Al
21
34. Which of the following part of brain is known as | 34, Fr=fafaa & & wias # FF-a1 W @Y ARka=s"
‘little brain’ ? P~ FecArdaT e ?
(a) Medula (b) Cerebellum (a) WegEm (b) HETH
5 E4E
(c) Pons C) d@b“'m (c) Ut @) JEm =33
W
35. “‘Knock-Knee’ Syndrome res;ift‘s due to the|3s5. <H&-Ar ﬁi?ﬁq %W%W%’Iﬂ% |
pollution of : (a) SIEhCH (b) RREIH
(a) Phosphates (b) Fluorides (€) e (d) W TRt
(c) Nitrates (d) Heavy metals
36. Blood is a type of 36. WWWW___%I
(a) Connective tissue () A Sds
(b) Muscular tissue (b) Uig Faw
(c) Nervous tissue (c) dfer Faw

(d) Epithelial tissue

(d) I9EHAT FHdwh
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Which among the following was not one of those

states which were annexed to the British Empire

by Lord Dalhousie on the pretext of the ‘Doctrine
of Lapse’ ?

(a) Kamataka
(b) Nagpur
(c) Jhansi

(d) Satara

Who was the Governor General and Viceroy of

India at the time of the formation of the Indian
National Congress ?

(a) Lord Curzon

(b) Lord Duffeérin

(c) Lord Lansdowne

(d) Lord Ripon

Who presided over the first session of All India
Trade Union Congress at Bombay ?
(a) N.M. Joshi

(b) Lala Lajpat Rai

(c) B. Shiva Rao arard
(d) S.A.Dange - E?@
Who established the Central Hindu College in
Banaras, which later emerged as the focal point of
Banaras Hindu University ? mJ{
(@)
(b)
(©
(d)

Swami Dayanand

Bal Gangadhar Tilak
Annie Besant

Madan Mohan Malviya

Where was the first session of the Indian National
Congress held ?

(a) Lahore

(b) Bombay

(c) Poona

(d) Calcutta

In which year was the Uttar Pradesh State Organic
Certification Agency established ?
(a) 2007 (b) 2011
(c) 2005 (d) 2013

37.

38.

39.

40.

41.

42.

Freafirfer & & -2 e 31 ot  whtwfa T8
o, S STE S g g Aif & Fem few
s 1 i forg re.d 2

(a) FARH &

(b) ATTIC
(Y~ Fidt
(d) wam
Yl T S09 ¥ T % ong va &
T ST 3R ATEET A AT 7

(a) IS FsA

(b) S THA

(c) <TSTHeRA

(d) <rE o

wrd § arfae wRdt ¥ gfe #iE % ged
AT it STeTerar e Y off 2

(a) TATH. SO ETD

(b) S S

(c) i Rawa ﬁ_’

(d) TET s

T H Ay g A, oA # e
fog Fervarfereera & F=-forg % w0 8 w1, i
TATqAT e & oft 2

(a) Tt E=

(b) =T TR e

© Taw=

(d) WA HIET HTeTE G-

Tl TP R SR SRR et o go

74646

o1 ? ©
Q‘
(a) TTER N~
(b) s
(c) T 232
) B

forg ad F It wew Te S weofiEr Wi @Y
AT Y 7S 2 |
(3) 2007
(c) 2005

(b)
(d)

2011
2013
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= afEen FeRal HHE H
43. Which cash crop is the major contributor to the | 43. I T A F " e
agriculture economy of Uttar Pradesh ? ﬂ?ﬁ‘ﬂ’fm ®?
(@ Maize ~ ~ (b) Cotton (a) WEHI (b) =™
() Sugarcane () Wheat (g T d) T
44, *“‘Operation Kayakalpfgcheme launched in Uttar | 44, ¢ Jo¥T L = T A HEHST”
Pradesh is related to : <f- ; g gt g ? |
(a) Expanding unive((g?ty infrastructure (a) ﬁwaﬁam%gﬁmﬁaﬁamﬁmm
(b) Revamping primiry schools ® srufires farererdt &1 geaR
(c) Promoting skill-based education HITE-TTeTTC e Y wgrar 3
(d) Improving higher education © ‘
(d) I=a R gar
4. In 2023 ~24, which state was the leading producer | 45, R ¥ 2023 - 24 ¥ P W SR
of food grains in India ? IATEH T ?
(a) Maharashtra a) TES
(b) Madhya Pradesh Eb; e
(c) Uttar Pradesh I~ o
(d) Punjab < =y ) W
do) a (d) wST
46. When was the ‘Kisan@itra Yojana’ started in | 46, ST Y # e i e SR g A g 2
Uttar Pradesh ? < ‘ (a) 183[, 2010 @ 18 3TET, 2001
(a) 18June,2010 ™(b) 18 August, 2001 © 185M, 2001 @) 18 37T, 2010
(c) 18 June, 2001 (d) 18 August, 2010 -
47. Consider the following figures : 47. I & oot w fem Hiftre -
2| 6 31 7? 2 | s 3| 2
80 24 120 | 36 80 | 24 120 36
What is the missing number ? me% 9
(a 10 F~(b) 8
© 9 T 7 (a) 10 (b) 8 Eqm
© © 9 @ 7 e
48. What was the Fiscal Health Index of Uttar Pradesh | 48. a§ 2022 — 23 % W W H TN e
intheyear2022—23f3: ot (rearet 2o $2w) Rraar ar 2
(a) 459 (b) 370 (a) 459 (b) 370
. 47-9
(©) 350 @ (%) 350 (&) 479
49. Which of the following is an ocean current of the | 49, fnfefag T q -t gﬂﬁ] YR ATATER HETHIR
Atlantic Ocean ? _ g2
(a) Humboldt current (b) California current (a) THIeZ U (b) Hfereiffar unr
(c) Alaskacurrent  (d) Benguela current e) SRR Umy (d) ST am
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mamum dec-:adal growth of urban population
during the period 2001 — 20117

(2) Maharashtra (b) Nagaland

(c) Kerala (d) Sikkim

51. Which of the following river originates from
Mansarovar in Tibet

insa and passes through
Shipki La mountain pass ?

(a) Chenab (b) Beas

(©) Ravi (d) Satluj

52. The Brahma temple of Pushkar is in which of the
following states ?

(a) Rajasthan

(b) Uttar Pradesh

(¢) Gujarat

(d) Himachal Pradesh

53. Arrange the following states in ascending order on

the basis of percentage of Tribal population as per
Census 2011 :

I. Madhya Pradesh
II. Maharashtra

III.
Iv.

Select the correct answer from the codes given

Rajasthan
Meghalaya

below :
(@ IV,LIL 1
(¢) ILIL]I, v

(b) ILIV,II1
(@ LILIIL IV

Which one of the following states was most
urbanised as per Census 20117
(a) Gujarat (b) Goa

54,

(c) Tamil Nadu (d) Mabharashtra

50. Ffafes 3 & e asa 3 2001 — 2011 F T F
A Tt ST Y s avde afa as A

(a) WETTY ';:— (b) MRS
O
() & § (d) T
s1. Frefafaa # & S T frem § AR @
Sefa g Rt o verd S A el 2 2
() = (b) ==
(c) Tl (d) wags
52, QR oI s wiet et § @ frm rea i Rea @
?
(@) T
(b) SWHT
() T g
(@) Temm=arw=_wr Eé

53. 2011@@@%%,&1:%%3@3&@%
ST STEEAT & SIS 3 ST 9 A0S 70 1
=aftug fifsg '

I WY

I T

1) SR S _
Iv. WEeE %ﬁ
e faw e e 3 & wet I =T i

@ IV,LILI (b)) LLIV,ILI
(¢ ILILLIV % (¢ LILILIV
54, 2011 A SO HGrgeTe Frerferia § & @
T T AT Yelishd o1 ?
(a) T (b) TaT

(c) dfteTg (@) weWsg
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5§5. Match List-1 with List-I1 and choose the correct | 55. {Gn'lﬁ@'n | g aﬁt:ﬁ%ﬁqm?

answer using the codes given below : 1 JAT N FFF:

List-I . Listll qeh-1 -l

A. Kushanas 9 Devaputra A. FEU 1. W

B. Pulakeshin II < Sakalottarapathanatha B. Sa%,ﬁﬂﬁd’m ii. ATy

C. Harshavardhana Sf])n Dakshinapatheshwara Cc. gdadq iii. IfRFUTTRRET

D. Samudragupta ' iv. Kaviraj D. T« iv. ShfaTst

Codes : w2

56.

§1.

8.

(a) A-i, B-iii, C-ii, D-iv
(b) A-ii, B-i, C-iii, D-jv
(c) A-iii, B-iv, C-ii, D-j
(d) A-ii, B-iii, C-i, D-iv

£

Which of the following pairs is not correctly
matched ?

(a) Ryotwari System ~ Madras

(b) Permanent Sett ent — Bengal

(c) Mahalwari System — North-West Provinces
(d) Talugdari Systé:_q_@— Bombay (Mumbai)

For which of the folmving rulers, is it said in the
‘Udaipur ~ Prashasti’ that “He achieved,
accomplished and made possible everything that
could not have been done by anyone else” ?

(a) Sindhuraj

(b) Vakpati Munja

(c) Mihira Bhoja

(d) Bhoja

Which of the follo
people should creat

kings stated that “All our
good deeds, free from all
disasters, enjoy the 30y with minds unpolluted
with jealousy” ? <f

(a) Samudragupta'\

(b) Chandragupta Maurya

(c) Harshavardhana

56.

(d) Ashoka

57.

58.

(@) A-i, B-iii, C-ii, D-iv

(b) A-ii, B-i, C-iii, D-iv

(c) A-iii, B-iv, C-ii, D-i

(d) A-ii, B-iii, C-i, D-iv

et o & wl-a1 7w & gafa 7@ & 2
(a) YTaTE Yunelt — WEE

(b) Rf SEEE — S

(c)- mETTETS SuMet — IeR-ufRew €A wia
(d) TTEIHRRT ST — H (GE)

Frferfiea & & form e 3 forg ot woifer
FET TN R {35 3o 7 v o v it mE Fw
fepam afit s <t o forelt gro T @ w
ur 2 |

(@) Rrgos

(b) STt TS
(¢ fufas _
@ ¥ 242

Frefefiaa & & e oo & e 2 f o
SISl HEHRT 1 o el 8, W TR & e,
31 & S T @ et E iRy 9

(a) =T

(b) =T o

(c) wady

(d) e


https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON
Google Play

b\ M
b b
3
o S
243 13 UNHSIV.-01
59. Find the missing number 59. T uEgT § Hifere
/4\ 6 7 4 6 7
> 4 6 3 6 5 5 4 6 3
(2) 86 ®) 76"
67 (a) 86 (b) 76
(c) 67 (d) 55
(c) 67 (d) 55

4
60. Inacode language,

is harmful’, “avd har hap” means ‘Avoid harmful

habit’, ':md “Ple avo tab” means ‘Please avoid
tobacco’. Which is the code used for ‘habit’ ?
(a) tob (b) hab
(c) avo (d) har
61. In a queue of boys, A is seventh from the left and | 61.
B is fourth from the rightt When A and B
interchange their positions, then A becomes
fifteenth from the left. Find the position of B from
the right.
(a) 19th (b) 12th
(c) 20th (d) 17th
62. Find the value of x, if : 62.
2*%3=11,
3*5=23,
and x * 6 =41.
(@ 6 (b) 4 A
(© 5 @ 3 1

63. Abag containsf 5,%¥2 and T | coins in the ratio of | 3.

3 : 4 : 5. The total value of all the coins is
% 2,100. How many coins of T 5 are there in the
bag ?

(a) 250

(b) 225

(c) 245

(d) 210

“tob iso har” means ‘Tobacco | 0,

T FZ "TI?L'EI “tob iso har” &1 37 ® ‘Tobacco is
harmful’, “d¢o har hab” &7 379  ‘Avoid harmful
habit’ H"&é‘})]e avo tab” &7 3¢ ® ‘Please avoid
tobacco’ l%ﬁ?&bit & foe s EERCH ERIRIE

g7 P~
(a) tob (b) hab
(c) avo (d) har

ST o1 T U o, STt 311 & Trad T WA T
T AR A NI A W B 3T | 59 A T9T B 379G
T AT T FE A &, dF A arff SR 155w
W EET | SRff 3R A B &1 v 3 A |

(a) 193t () 12at
(c) ZOHJT;;F (d) 17af
o
<
x 1 qH R, afe
24374,
3*5=23
TEx*6=41%r)
(@) 6 (b) 4 it
) 5 @ 3 E’i‘.-

THEAAATS, T2 Tl 3 :4:5%
HE I wf e w A ea2,1002 1 AT s F
%a—lrﬁaé@?
(a) 250 <
O
® 2253

v
() 245~
d) 210
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64.

65.

66.

Match List-I with List-II and choose the correct
answer using the codes given below :

List-I List-IT
(Natural Source) (Acid)
A. Vinegar i’;_- Methanoic acid
B. Tamarind D Lactic acid
C. Sour milk (curd) q?.g Acetic acid
D. Nettle sting \{ Tartaric acid
Codes :

(a) A-iv, B-i, C-iii, D-ii
(b) A-iii, B-iv, C-ii, D-i
(c) A-i, B-iii, C-iv, D-ii
(d) A-ii, B-iii, C-iv, D-i

E4E
:4%
O]

What is ‘Hydroponics’ ?
(a) Soil conservation ™~
(b) Grafting a plant O

(c) Study of vegetables :ﬂ"
(d) Growing a plant with%nt soil
: ™~

Given below are two Statements, one is labelled as
Assertion (A) and other is labelled as
Reason (R).

Assertion (A) : In photosynthesis, the radiation
energy of sunlight is converted into chemical
energy and stored in food materials.

Reason (R) : The final product of photosynthesis
is glucose sugar, which séon turns into starch.
Select the correct answeégs'mg the codes given
below : <t

(a) Assertion (A) is falsg'a,fBut Reason (R) is true.
(b) Both Assertion (A) and Reason (R) are true
and Reason (R) is the correct explanation of
the Assertion (A).

Assertion (A) is true, but Reason (R) is false.
Both Assertion (A) and Reason (R) are true,
but Reason (R) is not the correct explanation

(©,
(d)

64.

of the Assertion (A).

oft- 1 G- Hﬂgﬁ‘%ﬁzﬁﬁﬂﬁtﬁﬁ?mﬁ
muﬁmﬁ‘u‘tﬂmﬂﬁﬁ

&@ﬁw’m

(a) A-iv, B-i, C-iii, D-ii

A-iii, B-iv, C-ii, D-i
(c) A-i, B-iii, C-iv, D-ii
(d) A-ii, B-iii, C-iv, D-i

CREEREHER ICIEUIC] mm?'

66. 9 & wF fu T ¥ AT A w =

AT (A) 3R T FRT (R) FATETR |

AT (4) : TeHTO-ET i, o & v §it

ﬁmmﬁmmﬁwmm

¥ g fF T 2|

FR (R) : SHENI-HANT H AW Iere e

RU R, <7 o6 vt @ wite (e § w2

A few e e =it sy e et e o e R

(a) AP (A) Te@ R, TG FIT (R) G4 2 |

(b) ANEFE (A) 3k FR (R) T Hew § i
?W(R),W(A)Eﬁﬂ‘tﬁan@rw

|
(c) IR (A) TR, Y] T (R) T 2 |
(d) iR (A) 3R @ (R) 2R wer £ ]
© I (R), W(A)aﬁw-armﬂz?

FATR|
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: ¢7. When d‘_d the Anti-Partitjop, Movement begin with | 67. Tl F 7 &a § T fawTe YevT & @Y
; za;:zft:‘;e demonstration at the Town Hall, fervrst 3 fartrer f stidres e wor g 2
(a) 16th October, 1905 - (a) 16 T, 1905 =Y
() 7th August, 1905 (b) 7 ST, 1905
} (©) 16th August, 1905 (c) 16 3T, 1905 F
(d) 5th August, 1905 (d) 5 37T, 1905 =t
68. On defeating which politician, did Subhas | 68. G W= 31 fira T =1 GufM 0k W
gha_ndréi gose become the President of the Indian T g F 7T Iy 9
ational Con ?
ongress ? (a) . TSTETET
(a) C. Rajagopalachari P o P~
(b) Sardar Patel ®) X g
(c) Pattabhi Sitaramayya E‘g (c) wEI™ SINlER) <
(d) Jawaharlal Nehry E? (d) SETEER JEE %?.
69. Which of the following countries did not |69, frmfifas ¥ & fra 2w -amer e T@R =
recognize the Azad Hind Government ? HT=an 781 ot ot ?
(a) Philippines (b) Indonesia (37/ forfadig (b) TeRRmr
(c) Italy (d) Germany © T==h @) st
70. Match List-I with List-II and choose the correct | 70. @-Iﬁ@-llﬁ@%ﬂm R ﬁﬁq"ﬂ’f{
answer using the codes given below : ﬂmmmmgﬁq :
List-1 List-1I g-I a=h-11
A. Jat Rebellion i. 1554 AD. A SeiER Q 1554 %,
B. Bundela Rebellion 1ii. 1672 A.D. B. SRerfEE @ 1672 %.
C. Satnami Rebellion ii. 1669 A.D. Cc. gaa fEE ﬁg 1669 %.
D. Sikh Rebellion iv. 1675 A.D. D. frafEe N 1675%.
Codes : ' wT -
(@) A-i, B-ii, C-iv, Dl (a) A-i, B-ii, C-iv, D-iii
(b) A-ii, B-iv, C-i, D-iii (b) A-ii, B-iv, C-i, D-iii
() Aiv, Biifh, C-ih, D (©) A-iv, B-iii, C-ii, D-i
d) A-iii, B-1, C-ii, D-iv =1v, B-mi, C-11, D- EgE
@ gy A-ii, B-i, C-ii, D-iv E%’é
71 In which session of the Congress was the “Purna | 71, i 3 Fre srferdwr ‘W'WWW
Swaraj” resolution passed ? gATAT? {®)
(a) Madras session (a) W& AT g
(b) Lahore session ) et N
(c) Lucknow session (c) o@TSH ARATH
(d) Calcutta session (d) e ST
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72.

73.

74.

75.

— — A TS
‘16 UNHSIV.-01

Which fruit ranks first in India in terms of | 72, Seia 1 it & ¥TGa & Fvel toet o1 Serd T 2 2

production ? (a) TdIT &by JIm

(a) Papaya (b) Mango © e (d) FHel

(©) Guava (d) Banana ‘

*Kisan Call Centre’ was started by 73, PERFEdC AT FENE

(a) NABARD ft]

(b) ICAR o e

(c) State Agri@'tuml University Eb) AT TR

(d) Ministry €F Agriculture and Farmers
Welfare, G:-?Sernment of India

I
Which of the fo[lbwing belongs to cash crops ?
I. Potato

II. Rice

III. Sugarcane
IV. Cotton

V. Rapeseed

Select the correct answer from the codes given
below : <t

(a) III IV anf¥

(b) I,II and HD

(© LIand¥ |

(d) I, Iand IV 42
Match List-I with List-II and choose the correct
answer using the codes given below :

List-1 List-1Il
(Crops) (Diseases)
Paddy i.  Wilt disease

Wheat [~ ii. Black Rust
v
Sugarcané() iii. Red Rot

c 0wy

Pigeon Pag iv. Brown leaf spot
Codes : E

(a) A-iv, B-ii, C-iii, D-i

(b) A-i, B-iii, C-ii, D-iv

(c) A-iii, B-i, C-ii, D-iv

(d) A-ii, B-iii, C-iv, D-i

(¢) Ta FiY fovaferemea
A4d) T T R HeOT WA, M HUEHR
74, Frefafad § @ S 76 wEa @ HEa 8 ?

IV. 9™

V. % awE Q)
Hr fag Ty e 7 & w3 i =T i
(@) ILIV3RV

(b) I II3IRII

(¢) I,II3ARIV mg
(d 1,73V

75. G-I ! gE-11 & g fifve o= e se
61 YA T T IR G :

qefl-1 qefl-11
(FH) )
A. 9+ i.  SHSTUT
B. M i, el e
C. = iii. e
D. 3K iv. SRS R
E 14

(@) A-iv, B-ii, C-iii, D-i
(b) A-i, B-iii, C-ii, D-iv
() A-iii, B-i, C-ii, D-iv

(d) A-ii, B-iii, C-iv, D-i
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Which of the followip
correctly matched 7

(@) Mineral oi] — Petroleum

(b) Vegetable fats — Phytostero]
(¢) Mustard oil — Lubricant

(d) Animal fats — Cholestero]

& pairs (Fat — Oil) is not

quua Regian
following ?

(a) HCl and HF

(b) Concentrated HC] ang Concentrated HNO,
(c) HCl and HBr
(d) Concentrated HCI and Concentrated H,80,

The type of mirror used in the headlight of a car
1S

(@)
(b)
(©)
(@

1S a mixture of which of the

Plane convex mirror
Concave mirror
Plane mirror

) of (D)
Convex mirror :

G
Which of the following is not a luminous object ?
Flame of candle

Moon

Electric lamp

Sun

(®)
©
d

The distance at which the average radius of Earth’s
orbit subtends an angle of 1 arc second, is known
as: ;

(a)
(b)
()
(d)

1 Fermi
1 astronomical unit
1 Parsec

1 light year

Which of the following is correct ?

90

(a) 1metre=10 nanometre
19

(b) 1 metre =10 ~ nanometre

9
(c) 1 metre = 10" nanometre

(d) None of the above

76.

77.

78.

79.

80.

81.

Fererfisfiam 2ot e — 3en) 3 & - wd R
TR

(a) G aet — Weiferam
(b) SEafe FET — BRI
() Eetesif . = e

(d) IY TENLHRTRUST A

g W RaRae 3 & e R 2 2

(a) HCI

(b) W= HCI 3ACHR HNO, 4

(c) HCI R HBr

(d) W= HCI R E= H,S0,

T hT BSTIGE T ITANT FoR ST et <o 1 SR
?:

(2) GHd 3T YT

(b) T T

(c) Toae g

(d) aa?rarf}&o

Frafafeaa & A da s 7a e 2
(a) el Beksare

(b) ==

(c) foem g
d)

a8 g0 o qeclt it A st e 1 o
RS T 0T i et 2, PRt 2 -

(a) 1wt

(b) | Tl
() 19EEy

(d) 1m%

O
Pt R e & 2
(a) ltﬂ'{(=1090§Fﬁ‘—ﬂZ(
&) 1= 10" Ffex

© 1¥iex=10" dnfiex
@ A

T
EXE
b
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82.  Which of the following statements is/are correct in

83.

the context of the Treaty of Lahore (1846) ?
I The Maharaja lefi all his territories beyond
the river Satlyj forever.

II.  The Maharaja left his rights over all the

forts between the Satluj and Beas rivers in
favour of the Company.

The English army c?uld no longer pass
through the Sikh Statez

Select the correct answer ﬁ'é:% the codes given

II1.

below : Lo
(a) Only I and ITT [
(b) OnlyIandII
(c) L IIandIII
mgE
@ OnlyT =1
~

Match List-1 with List-II an&hoose the correct
answer using the codes gweﬁ-!below

List-I Ltst—H <
A. Igta L. A portr"
B. Mahrousa ii. Land under state
administration

C. Khalisa 1.
D. Shiq iv.

Land revenue

Protected town

Codes :
(a) A-i, B-ii, C-iii, D-iv

(b) A-iii, B-i, C-iv, D-ij

7464647

(c) A-ii, B-i, C-iv, D-iii

(d) A-iii, B-iv, C-ii, D-i

83.

UNHSIV.q,

e w@f (1846) & wof 7 Frafefea & §

qﬂq.mfawgﬁ%/%‘?

| R T T R ¥ T A iy
wia & e st few

uwﬁﬂmmﬁ%m%Wﬁ“

fear

afirsft & mﬁ@mﬁ@r?ﬁﬂmm
off |

2 o e 3z 7 & Tt S =T i

(a) e I A

1.

(b) ST I
(c) I IIARII
(d) FaeTl

a%ﬁla?ma"rnﬁaﬁ%ﬂaﬁﬁrqaﬂtﬁﬁqmw
HETWE(HE‘TW?&Q

-1 -1l
A T i TEwm
B. Wed®r i, TS ST o 37efi iy
C. Qe iij. b QULS
D. i iv. df&a TR
&

(=N

(@) A-i, B-ii, C-iii, D-iv
(b) A-iii, B-i, C-iv, D-ij

o o
() A-ii, B-i, C-iv, D-iii s

(d) A-iii, B-iv, C-ii, D-i
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m Th‘e phenomenon of “urban heat islands” refers | 84. el S A i aREEAT el wehfa R 2
to: 5 (a) it 3 I H Fft
| (a; ! ecreased energy consumption (b) T&T ATE A HAferepar
(b) Increased tree coyer i
(c) Higher tem : (c) ST 3 2mir !ajﬁ A el S 5 S
Perature in urban areas than O
nearby rural areag . ‘?ﬁ q
(d) Decreased temperature in urban areas (d) e i *:j-
g5. Biofertilizers are : 85. S-S T : P~
(@) Organic manures (a) TS @Te
(b) Cultures of micro-organisms () FEw-Siar S HaH (Fe)
() Green manures i ©) -&1@1& E4@
(d) None of the above @ aﬁﬁﬁﬁ@—gqﬁ E%’g
g6. Which of the following states of India has higher v % Frerferfias # & fore o # aftesil 6 @emn
number of females than males 9 gl?lﬁﬁ i 2 7
(a) Karnataka (b) Tamil Nadu (a) HAleE (b) lEeFTg
(c) Kerala (d) West Bengal © ¥ (d) ufEmeme

87. When was the first Mineral Policy announced in

the State of Uttar Pradesh ?
(a) On December 29, 1999
(b) On December 29, 1996

(c) On December 29, 1997 v
(d) On December 29, 1998 =1

88. Which website has been prepared to monitor the:
financial activities of the State of Uttar Pradesh ?
(a) Arthashastra (b) Srishti
(c) NIC (d) Koshvani

89. Who is the author of the book “The Population
Bomb™' ? _
(a) Malthus (b) Paul R. Ehrlich
(c) Thompson (d) Donald Bogue

90. In which city is the ‘National Institute of
Agricultural Economics and Policy Research’
located ? .
(@) Lucknow (b) New Delhi

mmmﬁﬁaﬁé\'@amﬁmqﬁaﬁr@
oft 2 o

(a) 29 feEww, 1999%

(by 29 Fewwr, 1996 Fie

(c) 29 femm=r, 1997 @

(d) 29 femw=w, 1998 @t

87.

IR U il e ot it P = & fe
. JeaTse AR TR 2

(a) Inme (b) gfE

() WIEHI(NIC)  (d) Hrm@wl

88.

89. 3 UIYEIT T IR [ A@H R E 2

_(p) wreE 2'«") Uid R, el
(c) omvEa ‘~§) SHTES "M
o)
90. T Y eI ST SrE e
et H fRua g 2
(a) TGETH (b) 3 feeeht
(c) BT (d) H¥

(c) Hyderabad (d) Mumbai
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91. Consider the following events and arrange them in | 91. ﬁﬂ'ﬁﬁ.ﬁﬂ gl T foER hifTa IR 7 T
correct chronological order : A ¥ safierd T : -
. Cabinet Mission 1 fere o
II.  Cripps Mission . forea e g
III. Quit India Movement [l T BIgH ST E
IV. Mountbatten Plan V. HTEzae sl
Select the correct answer from the codes given :ﬁaﬁqmiﬁeﬁﬂ GE I T T HINTC
below : 11 1L TV
(@ LI, IV o LELLIY
®) 1L I, L, [V @ I, I, I,
(¢) OLLILIV v (¢ ILLILIV
(d) IV,I,II, 11 =i (d) IV,LILII
92. Consider the following statements : 92. ﬁﬁlﬁﬁﬂ'ﬂ FoAT g€ fomm Fifsre
L. The first Muslim President of Indian . GEEEH agesit WU@?W%W@T
National Congress was Badruddin Tyabji. gﬁﬂ'ﬂ I A | C.D
Il. The first woman President of Indian II. WWW@*@#W
National Congress was Sarojini Naidu. yigar area oft | <r
Which of the statements above is/are correct ? I | B Wgﬁ%/é?
(a) I(\)Izither Inorll (1) FALIARD
(b) y I (b) FaTII
(c) BothIandII
1 3 11 <1
(d) OnlylI oFlg
] (d) Faa1 i
93. With reference to ‘Ajivika Sect’, which of the | 93, ‘oT<iifasr dwerr & deoof ¥, frafofes & @
following statements is/are correct ? EIEEY T TR /R ?
I. Ajivika sect followers mostly lived in forests. [ i dyem % o um: ﬁﬁ Wi
IL. This sect enjoyed great respect during the IL. mmwrﬁﬁmﬁmtgm I
Maurya era. | ﬁﬁﬁwmﬁﬂnﬁwmﬂﬁgﬁﬁz
Select the correct answer from the codes given
below : (a) AdMLIR ,\
(a) Neither I nor Il (b) Fae II
(b) Onlyll (c) 13113t
(c) BothIandIl
(d OnlyI () Faer
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24| 2
6|3
(a) 120
(®) 16
(c) 29 @ 18

{.n a code language, ‘MISTAKE' is written as
9765412’ and ‘NAKED’ is written as ‘84123,

Then, in the same language, how will
‘INTIMATE® be written ?

(a) 78698365
(b) 78579452
(c) 79438163
(d) 897866145

In the following question, select the related word
pair from the given alternatives :

Tuberculosis : Lungs : : Typhoid : ?

(a) Brain (b) Intestine

(¢) Lungs (d) Kidney

Which one of the following figure is different from
the rest ?

@ A v

(d)

A

(c)

The year 2036 will have the same calendar as that
of :

(a) 2009
(c) 2008

(b) 2007
(d) 2006

95.

96.

> i

98.

Frefaflaa o 4, g dern 0 % =@ wFad
wer et 7

I~
D
24| 2 <
©
=t
'\,‘
6|3
@ 120 ) 16 e
© 29 ) 18 G

ferelt sz W & “MISTAKE® #Y ‘9765412 foran
AT ® 3 ‘NAKED’ &1 ‘84123’ fer@rsrar 21 4t
‘INTIMATE’ &1 3t 91 § &2 ferar simam 2

(a) 78698365 P~
(b) 78579452 g
(c) 79438163 %
(d) 897866145 <t

P

Frfertan s , fewome freredt 3 & weiftr e g
U : TS« : TFS : 2

(a) wRash (b) fa
© %% (d) FFF
ﬁmﬁrﬁm_ il # F -t tw A A Ry 2 0
(@ ® | /\

I

(&

g
() (d) ==

. 7

ad 2036 T el TE B, S R R
(a) 2009 =1 (b) 2007
(¢) 2008 = (d) 2006 =T
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99.

100.

101.

102.

103.

(a) Andamaniand Nicobar Islands
"(b) Chandig@

104.

Which one of the following pairs is not correctly
matched ?
(Mountain

Passrg (StG'IE)

@ Sinla S - Uttarakhang
O .

(b) Nathu L&, —  Sikkim
(c) Zojila —  Arunachal Pradesh
(d) ShipkiLa - Himachal Pradesh

“Yela Mala’ is the name of which of the following
?

(a) Shevaroy Hills
(b) Garo Hills

() Anaimalai Hills EgE
(d) Cardamom Hills Ei‘é
Which one of the following pairs (Tree — Area) is
not correctly knatched ?

(a) Sal —No@-eastem parts of the Indian
< Peninsula
(b) Teak— \x@stem part of the Indian Peninsula

(c) Deodar ™Nilgiri Hills

(d) Sundari — Sundarban Delta

Which of the following is a local storm of Bengal
and Assam, useful for tea and rice cultivation ?
(a) Karaburan

(b) Blossom shower

(c) Norwesters

(d) Mango shower

Which one of the following Union Territories of
India had the. highest literacy rate in 2011
Census? I

(¢) Daman and Diu

(d) Lakshadweep

Plants that tolerate a wide range of temperatures
throughout the year, are called :

(a) Hekistothermal  (b) Eurythermal

(c) Microthermal (d) Stenothermal

100.

101.

UNHSIV..q,
-~ Wgﬁﬁﬁﬁ-ﬂ@“ﬁ@%ﬁm%?
@@ a) @)
(a) faar - SuETs
b e - fEE
© seftEr - S EC LA
@) Rmfiar - e ww

frferfaa i & Rrwe T e ATe’ 2 2

e Tt @ - &) § § P o wd

EINCE A

(2) TS — WA TR & It W
(b) T — YR I 1 ufinft aor
(c) THER - Fafrt werfsat

) Yt - gataT e

102.

103.

104.

et o & Sia-ar wra e e o s i
EREEIECEIRCHECE NI e )
(a) A

(b) SR HiTET

() rawd gﬁ
(d) ¥ it i
2011 I ST ® W % Fraffas 3= wife
T 7  Forweht wrerar ot sw=raw off 2

(a) A=A R Frepram fowdg

(b) =g

(c) TR

(d) <T&ET

9 I S ot & AT ¥ e freq fremw ae
aﬁ%ﬁﬁﬁﬁ%:

(a) cFF=rnta (b) gfenfa

(c) WrgshIe (d) wAruds
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105. Which agro-climggie zone in Uttar Pradesh is mOSt

vulnerable tg climat ) |
€c i icularly
in agriculture 9 hange impacts, part

(@) Western Plajp, Zone
(b) Bundelkhanpg Zone
(c) Eastern Plajp Zone
(d) Central Plajy Zone

106. The name of the scientist who proposed the

“Ten Percent Rule” of energy is :

(a) Haeckel (b) Lindeman

(c) Tansley (d) Odum
107. Which one of the following is a landlocked
harbour ?
(a) Haldia (b) Ennore
(¢) Mumbai

(d) Visakhapatnam

108. The ‘hydrological cycle’ is controlled by :

(@) Grasslands (b) Epiphytes
() Lichens (d) Forests

109. According to Census 2011, which of the following
Union Territories has the highest population
density ?

(a) Puducherry

(b) Lakshadweep

(c) Daman and Diu -~
(d) Dadra and Nagar Haveli E?}:

110. What is the purpose of the “PRANA” portal ?

(a) Industrial emissions control

(b) Monitoring the National
Programme (NCAP)

(c) Plastic waste management

(d) Water pollution monitoring

Clean- Air

111, Which of the following states of India has the
highest density of population ?
(a) Uttar Pradesh (b) Bihar

(c) Madhya Pradesh (d) Punjab

*23* UNHSIV.-01
105, I T H -6 HR-STay & Ferarg e &
o, Rt PR % wfy e s wdeEe
?7?
(2) ufirdt ferh &=
(b) FeerEUs &F
(c) et At &t
(d) 7 e e
[
106. m?ffé‘msrﬁrmwﬁrw'ﬁmééﬂmmm
?: "rj"
(@) ¥ ) Ridw
(c) T (d) req
107. Frefafae & @ FF-@ & wEsg @=dEs)
HEOTE R ?
(a) sfe=am (b) TR
©) g% (d) frmaTazm
108. ‘Siefia =z = A wa g :
(2) ETEEE (b) ey
(©) v’i_g;s_%r—r @ =
109. 2011 FFATAT & AR, Frafafaa 7 & fra =
mﬁa%wmmﬁ@rmauaf&aﬁ%?
() qf%ﬂ
(b) &R
(c) THTdT
(d) <TE AR T gl
110. “PRANA” Qe 1 o1 ITANT 2 ?
(a) TreNfiTs Ieasta Fregao
(b) T TS a1y FEFHT (NCAP) i st
(c) 'ﬂﬁmmﬁmw i
(d) g srgor Pt B
<f
111. m%?mﬁrﬁaaﬁﬁﬂmﬁmﬁmm
el WTT AT @ 2
(a) I (i) frew
(c) wemwew (d) Yo
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& * 24 * s
E%E . T FE-ar ARfaT e T8 ¢
112. Which of the following is mer an Operating | 112. ﬁq‘%mga?rﬂmlmvﬁm (b) T

System ? (a) p

(@) Microsoft Office (b) Linux ) H (d) I!
113 \(\c’i'l ::deows f th f(;? o hola Ki # & fore <fter T A LS By

. ich one of the following ola ngs | 113. : =l

destroyed the Chera navy at Trivand%n and then Fy T A T 3 T qrsar TS g fom

captured the Pandyan King ? (@) o7 7

(a) Kulottunga g (@) W

(b) Ra_!enc!ral E ) S

(c) Rajarajal

¥ .. (c) ISt JYH
(d) Rajadhiraja
(d) TSRS
114. A MAC (Media Access Control) address is | 114, s i (e Fn @a___ fogg=
bits long. RGeS
@) 128 (b) 48 @ 128 (b) 48 em
(c) o4 (dy 32 (c) 64 (d) 32 E%

The famous Battle of Haldighati be%reen Akbar

(d) Satavahana dynasty

ST S ABTIVIT STd o Wed WG Seei=I T I

115. 115.
and Maharana Pratap was fought in tHoyear : AT AT
(2) 1576 A.D. ®) 1579 4H, @ 1576%% (®) 1579%.%
- () 1597AD. @ 1575 8D. © 1597% % d) 1575%.F
116. Who among the following assumed the titles of 116. Fafafas & & frgy “Ti-Ia-Raamsa” it
“Yamin-ul-Khilafat” and  “Nasir-e-amir-ul- “TIRR-T- 3 R-Ie-mfE T 6t ST T 5 2
Momineen” ? (a) TSN Raesht
(a) Alauddin Khalji (b) o
(b) Balban
(c) Firoz Shah Tughlag e (©) T e e
(d) Nasiruddin Mahmud =42 (d) T weng
117. Intel Core i9 is a type of M~ 7. SRARROTHTHRH 3
(a) Processor (b) Mothethpard (a) WRET (b) W=
(c) Hard disk (d) None gFthe above (c) & femn (d) ST ¥ &S 7
v 2
118. The grand stupa of Amaravati was! built by the | 118. 3WTEd & weq WY fAmtor A
. AT T[T o7 |
(a) Vakataka Dynasty (a) STRTEH TS
(b) Maurya dynasty (b) WY Ty
(c) Shunga dynasty (&) YT uwEy

(d) WTTETRT usEy
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119. Which of the following critics used the term
“Quasi-Federal” for the [ndian system of
government ?

(@ B.R. Ambedkar

(b) Jawaharlal Nehry

(¢) K.C. Wheare

(d) Laski

Distribution of Taxes between Centre and States
in India is done by the :

(a) Parliament

(b) Planning Commission

(c) National Development Council

(d) Finance Commission

Which among the following is nor a piirt of the
Governing Council of NIT] Aayog ?

(@) Govemors of States

(b) Chief Ministers of Delhi and Puducherry

(¢) Lieutenant Governor of Andaman and
Nicobar Islands

All Chief Ministers of States

120.

121.

(d)

122. Among the following, which one is the statutory
body ?

(@) Labour Commission
(b) NITI Aayog

(c) Planning Commission Eg
(d) Finance Commission Erw?
Estimation of National Income in India is done by
the :

(a) Reserve Bank of India

(b) National Income Committee

(c) National Statistical Office

(d) Planning Commission

123.

124, Who among the following was the first Indian to
be awarded the ‘Bharat Ratna’ ?

(@) Nelson Mandela

(b) C. Rajagopalachari

() Abdul Ghaffar Khan

(d) Pranab Mukherjee

119.

120.

121.

122.

123.

124,

Frafafaa @ fea sl Y syt s saaen
% fore “oned-damens re w1 v fRaT 2

d Fﬂgﬁ.
mﬁ%ﬁkﬁ%mﬁmmm%:
{a) mg
(b) AT
(c)

(d) fa=r s
frfefes & & i ife =20 ¥ yreehig aftve =51
e g a2 2

(a) TS FH T

(b) faeett sit gg=rt & e ot

(c) UM AR FFER oee F Aftete ek
(@) T e

©
ﬁn%@a%ﬁﬁ#—#@amﬁaﬁw%?
(a) oM
(b) Hifer s
(c) ST ITENT
(d) fow smam

ST 5 TR 37T 367 STk AT & -

(a) W e

(b) T s iy

() TwHiferhin sty |
(d) e 24

<+
Ao 8 e o
W 6 9 2
(a) “oE T
(b) HI. TR
(c) 3T THFR @
(d) ST Tt

gitye

¥ 9l 9 Ay wuw
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125. Which State Government has started the scheme | 125. %i ql
‘Nivesh Mitra® ? :
(a) Maharashtra (a) HERTS
i (b) Tamil Nadu (b) 3
| (¢) Uttar Pradesh @ I cll ’E%
]‘ (d) Madhya Pradesh @) qeT T :
_ _ sreger et T ToTEl T STeheraTa Y et e oy
126. What is the name of the third volume of | 126. 319 0
Akbarnama written by Abul Fazl ? g7 M 27
(a) Sipah-Abadi (@) forqe-TTaTeT
(b) Sulh-li-Kul P s (b) W—Q—E’H
(c) Manzil-Abadi © HA-3TTeTal
S . CD
(d) Ain-e-Akbari L‘g @ T . i
: arefeaeT =g ?
127. Which state has the Iaiﬁ%st economy in India ? 127. W@ A SEEES]
(a) Maharashtra ()~ TERTY
(b) Gujarat (b) TR
(c) Uttar Pradesh © ITT IR
(d) Tamil Nadu @ afiremTe
128. Before his death in 1539 AD., whom did Baba | 128, 1530 € & a1t TG &, S TE T 3 o
Guru Nanak choose as his successor ? ittt ﬁ?ﬂﬂ-ﬁﬁfﬂ ?
(@) Guru Angad - (@) T 3e
(b) Guru Na-mdev - (®) ’\1’5:”‘1%3
(c) Guru Arjan S{j | © ;
(d) Guru Tegh Baha% .-E].«% T
s Ere (da’ ];ma—rrag@
[
129. How much were India’s foreign exchange reserves | 129, =R 2024 3 T o v w5 st LRSI EEl
at the end of December 2024 ? q7 9
(a) USD 653-97 Billion (@) 653-97 frfera s -
SD 629 Billi .
®) U tlion (b) 629 Fafirrt Ty Shere
(c) USD 640-3 Billion y
(d) USD 578 Billion (- 640-3 farferam srifhy Siem

(d) 578 fafera srifeht gier
e

130. Which among the folloz\%ing is the largest Stupa in | 130, ﬁrﬁﬁ%ﬂ‘“@a ﬁ%’ﬁww T EISTFIHQ:{-HT% )

the world ? < (@)

(a) Bharhut Stupa ::JD ®) E:g’
(b) Dhamek Stupa <.,

(c) Kesariya Stupa ©) WFH

(d) Sanchi Stupa §C maﬁﬂ?ﬂ
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131. Which one of the following is a correct match ?

() Sevagram Project _ Vinoba Bhave

(b) Grow More Food Jawaharlal Nehru

Campaign
-_(c) Co-operative — Mahatma Gandhi
Movement
(d) Etawah Pilot — Albert Myre

Project

132. Which of the following chemicals is used to hasten

ripening of fruits ?

(@) Indole-3-Butyric acid
(b) Malic hydrazide

(c) Cycocel

(d) Ethrel

5

133. Consider the following statements with reference
to the 16th Finance Commission :
I. The Commission was constituted on 31st
December, 2024.

II. Shri Arvind Panagariya is its Chairman.

Which of the above statements is/are correct ?
(a) Neither I nor Il (b) OnlyIl
(c¢) BothIandII (d) Onlyl

134. The Destructive Insects and Pests Act (DIPA) was
passed in the year 1
(a) 1957 (b) 1929
(c) 1946 (d) 1914

135. Which of the following is nof a beneficial
insect ?
(a) Helicoverpa armigera
(b) Bombyx mori
(c) Laccifer lacca

(d) Apis mellifera

131. ﬁﬂ%ﬁaaﬁﬁﬂw-mwmgﬁ%a%?

(@) VEmmufgeTr -
(b) aﬁmmaﬁvmﬁ

Shwm O
I T A———

q—
(d) FEImae M~ - e AET
TR -

T
- AR Ew

132, Fr=fafes & @ SF- @ w9t F) iy e &

e g AT e 2

(@) Fe-3--RfE U
(b) BT TITERS

(c) drsRrE

() oI
133. 1651%33?@#%711‘%

N~

T f=fafad sue w famw
wifeT ;

L. whwrmrw:s%w 2024 I gAT AT |

I %ﬁmﬁzwn%msa%m%l

S H W RH-A1/A HE T R/ 0
(@) TALIATI (b) Fa I —_—
(c) IR IIEHT (d) Faal E’i%

134, fommyerlt e ik digs sfufan @ and i) af

Ao geme |
(b) 1929
I~ (d) 1914

(@) 1957
() 1946

135. ﬁu%f@aﬁﬁaﬁq-ﬁéhmwwrﬁﬁz#ﬁ%?

(a) EREICL

(b) siftgggag ™
(c) I et

@) e\ A
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136.

137.

138.

139.

140. Who was the first speaker of the Lok Sabha ?

Which of the following is the correct chronolo
of the given events ?

(a) August Oﬁ'er,ICabinet Mission Plan, Shimla
Conference, Cripps Mission

C .
August Offert Cripps Mission, Shimla
Conference, Gdbinet Mission Plan

Shimla Conferénce, Cripps Mission, August
Offer, Cabinet Mission Plan

Shimla Conference, Cabinet Mission Plan,
August Offer, Cripps Mission

gy

(b)
(c)
(d)

According to which Article of the Indian
Constitution, — “No citizen shall, on grounds only
of religion, race, caste, sex, descent, place of birth,
residence or any of them, be ineligible for, or
discriminated against in respect
employment or oﬂicg under the State” ?
(@) Articlel7 <3 (b) Article 15
(©) Article 16(2) $§  (d) Aticle 16(4)
Which of the folloWing pairs is not correctly
matched ?

of, any

P~
(Fundamental Rights)  (Articles)
(a) Rightto Freedom : Articles 19-22
(b) Rightto Freedom : Articles 23 —24
of Religion
(c¢) Cultural and : Articles 29 - 30
Educational
Rights
i 14-18
(d) Right to Equ ELIQD’ : Articles

C
In which part of thcgudian Constitution, have the

provisions for electi been made ?
(a) PartXVII p~. (b) PartXV s
(c) Part XVI (d) Part XIV E‘?&

(a) G.V.Mavalankar (b) RaviRai
(c) ' Mira Kumar (d) Balram Jakhar

137.

138.

139.

140.
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@
eiver, foreer o
, vyera, e fem, Ry Wiy
® forer AT ’
© g:ﬁa:[, g ﬁﬁﬁ, ARG gm’
pfarve firg A

et T 3 35 STTo0% 5 SR, - iy
Frare ar 3 A foreft oft STTUTT T TST  anfi g
it B 91 9E % Gy H 1 e S s g
Seh | WETS e fehaT St

(a) IR 17 (b) TR IS

() TR 16(2) (d) TR 16(4)

Prafafad & & F19-91 0 w6 gafaa TeT 8 0
(siferes STferHT) (g9

(@) wErEETRARER ;. AT 19-22

©) wfREdmw o a3 -4
EADED Y |

©n defa sk R - TR 29 -30
RELIECIBEn

@) warsrafeEr T 14— 18

Tm#mmﬁmmwﬁ“
9

@ XV d @) wmxv (9T
(c) ‘WTXVI(IG)ﬁ- (d) «q'|1'|'}(1\/(l4)i‘i

mm%mmm)éﬁ?ﬁ?
(a) Fﬁ.a‘?.qmw (b) M
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141, ST 1 e e 2 147, ‘TB AN IIRE e | ar o’ v R
(a) Y HFHH-ATNE R 7
(b) e @ AT fashor
(@) Gx=mmt (b) whEmEES
(d) et

(©) Tm%ﬁw@
(d) u@rmﬁﬂh@

142. ﬁﬁ%ﬁiaﬁ?ﬁqwgmﬁ@ﬂﬁwﬁ%: 148. ﬁnﬁ-ﬁgaﬁﬁﬁ-‘{-mm qar* T qEigaT g

(@) ATW-y=x 29
(b) d¥-g=
(a) 7 (b) 3
E:; :ﬁj‘:*;? (c) Tafr@ (d) TR
149, iy T Gl R 1 q@ AR F v R :

r 143.ﬁmﬁ§@ﬁﬁmﬁ%aﬁ%uﬁwm% @) frer
1 (a) SUSE - wymA ?’; S
) e s : :
| (c) wamr— o @ ﬁﬁﬁﬁ
| (@) Fg—frm 249 150.ﬁm%1i§aﬁmma$@w%aiaﬂaqﬁ%:
j . W2 (@ "« ‘ISI"
144, TR T TR e Fere el e 2 ® W
;' (2) IR, AT (c) A
\ (b) 37T, anfawta (d) Fower
‘ () 3G, e 151. Freicifiea & & b s qataarh 787 2 -
- (d) &Y, Ay /(;.) smﬁg
| (b) TR
145, Frafoafas wew facimgmi @ 4 ong @1 W (c) TR |
s @ wis 25
o weTTd - gt 152, Pt 3 & s o o T -

(b) T — o (a) T o) g
} (c) gfegor—am (c) U () arfy
| (dy faftr—fmy

153, FmfoRaa 3 % few we § ot wse watqarh
146. fraferfiaa & § srqpe foeim-gm & : €7 o ™

(a) Ta - (a) fe, =, g, e

(b) 7oy — oft TUT (b) <Y, B, SR, B

() Hwfeaes - aifamd ‘ (c) m, 37y, vy, ¥

(d) g -¥ (d) ¥, Iqd, Y, el
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184, ST R 5 o v s e it [ 160 T e
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